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IE fr | BEES SCORE  |GROSS| HDCP| NET | JE I | BixE% | SCORE  |GROSS| HDCP| NET || IE £z | BEE% SCORE  |GROSS|HDCP | NET || JE fz | #mE# | SCORE  |GROSS|HDCP | NET |
B B = XS Jteh| 42] 35| 77| 9.5 67.5| 514% |EE LB Jteb| 41] 41] 82| 8.3] 73.7| 1014 |HiE FA mde| 52| 60| 112 ] 35.7| 76.3
#EE WA M mdt 34| 40| 74| 4.8 69.2| 521 |Jilss  fm— dteh| 44| 44| 88 14.3] 73.7| 1021% |BZE = mdk| 49 50| 99 | 22.6/ 76.4
36T |ATE  $REB mdt) 45| 54| 99 29.8] 69.2] 53k |k = mdtl 40| 48] 88| 14.3] 73.7| 103 |&EmM =& dteh| 54| 45| 99 | 22.6| 76.4
AGT | BEAT B mdt) 40] 39 79| 9.5 69.5| 541 [mE #2 @it 51] 49] 100 | 26.2] 73.8] 104t |=K IEF jtep| 51 48] 99| 22.6) 76.4
b | ¥ E mdt| 35| 42| 77| 7.1] 69.9| 5% |iEM Bus dteh| 52| 48| 100 | 26.2] 73.8| 1054% @ = myde| 52| 53| 105 | 28.6 76.4
61 | kit FIE dteh| 42] 35| 77| 7.1 69.9| 564 |iAEE BF mdel 44| 48] 92[17.9] 741 1064 | bt EE mdc| 53| 52| 105 | 28.6 76.4
L |HLE 40 mdt| 33| 42 75| 4.8] 70.2| 57 @z BEE dteh| 49 49| 98] 23.8] T4 2| 1074% |HA H— itep| 47) 39| 86| 9.5/ 76.5
86 |21l FEJ/y  |dteh| 44| 37| 81[10.7| 70.3| 584 |EEE IE dteh| 54| 50| 104 | 29.8] 74.2|| 1084% |IBM IFEA mdt 47| 51| 98] 21.4] 76.6
of | BB &l Jteh| 43] 38| 81 ]10.7] 70.3|| 59 |EA FIE mde 38| 47] 85[10.7] 74.3|| 1094% |&a #HA jteh| 48| 50| 98 | 21.4] 76.6
1002 |#EXK (= dteh| 41] 33| 74| 3.6] 70.4| 604 A Fhk midt| 44| 47| 91| 16.7| 74.3|| 1104 | &N ERF  deek) 46 51 97 20.3) 76.7
14 |4l #8= mgdt| 50| 55| 105 | 34.6| 70.4| 6141 |HME HEi2m |Bdb| 35 43 78| 3.6 T4 4| 1114 |AEH Bi# jtep| 53| 44| 97 20.3] 76.7
120 | BREy E= dteh| 39 41| 80| 9.5/ 70.5| 621% |MIE —ER mdel 43| 41 84| 9.5] 745| 112 A E® mdt) 43| 54| 97 20.3] 76.7
131 | R %A mdt| 37! 36| 73| 2.4| 70.6| 634% | A @it 39| 51| 90| 15.5] 74.5| 1134 | =8 {-% mgde| 52| 51| 103 | 26.2| 76.8
146 | BB BA Bt 46| 46| 92 21.4] 70.6| 64 | ZFM £ #del 40| 50| 90| 15.5] 745 1142 [FE2 #® jteb| 50| 53| 103 | 26.2| 76.8
156 | &=L &= Jteh| 41] 44| 85 14.3] 70.7| 654% Mt E4r mrdel 47] 49| 96 | 21.4] 74.6| 1154% |k B jteh| 45| 38| 83| 6.0/ 77.0
1661 | 884 ##iEER  [deh| 47| 38| 85| 14.3] 70.7| 664% |#lL WX dteh| 45] 38| 83| 8.3] T4 7| 1164 | ‘L == mde| 50| 52| 102 | 25.0/ 77.0
1761 | Bt EE mdel 37| 41| 78| 7.1 70.9| 674x |mE AAE mdt 50| 39| 89 | 14.3] 74.7| 1174% | bt = mgde| 43| 58| 101 ] 23.8| 77.2
1801 | AR = Jteh| 38] 38| 76| 4.8] 71.2| 684y |=¢ (=i mrde] 47] 48] 95 20.3] 74.7| 118f% |ma AR mgde| 50| 51| 101 ] 23.8| 77.2
1961 | /N FOMT mdt| 38| 44| 82[10.7] 71.3] 694 |imEE f2— mdt 46| 49| 95[20.3] 747 119 &M E mde| 49| 52| 101 ] 23.8] 77.2
2041 | S5 LI mdt| 39| 43 82 10.7] 71.3] 70% |/NEE EREh mdtl 49| 46| 95]20.3] 74.7| 1200 | B iBEL jtep| 52| 42| 94| 16.7| 77.3
216 | =&t &F dteh| 49 45| 94| 22.6] T1.4| 714 |t #E jtep| 50| 38| 88 | 13.1] 74.9| 12141 BxE E—H8 |desh) 47| 51| 98]20.3) 77.7
2208 | KHE mdt| 46| 48] 94| 22.6] 71.4] 72t |Bi®Z BAL &4t 50| 50| 100 | 25.0] 75.0| 1224% |4 #EE mydt| 49| 54| 103 | 25.0/ 78.0
23461 | FERT EmA mdt| 39| 48] 87| 15.5] 71.5| 734k |&5Kk EF @it 47| 52| 99 23.8| 75.2| 1234% |imEE —= m7dt| 49| 56| 105 | 26.2| 78.8
20 | FH ZEB dteh| 44| 42| 86 | 14.3) T1.7| 744 (dt)l K UST  EEdb| 46| 53| 99| 23.8) 75.2|| 1244 =R ®KF mgdt| 54| 51| 105 26.2| 78.8
2541 | Bft  FIBA mgdel 37] 42 79[ 7.1 71.9] 754% [Bue EmE Jteh| 42 44| 86 10.7 75.3| 1254% | JK® R jtep| 46| 52| 98 | 19.1] 78.9
264 | bkt &tE Jtep| 49| 42 91 | 19.1] 71.9| 764 | i@k teikm  dedh| 47) 39| 86| 10.7) 75.3| 1264% |KELE #% mdt) 53| 45| 98] 19.1] 78.9
2% | LA $8— mdt| 36| 42 78| 6.0] 72.0 7% |dtE i dteh| 48] 44| 92 16.7| 75.3| 12744 HMH = jten| 58| 51| 109 | 29.8] 79.2
286 | FN OBUE mdt| 48| 49| 97 25.0) 72.0| 78fx |EFLE EAEA  dteh 51 47| 98| 22.6) 75.4| 128G | HBE BF Jteh| 58| 51| 109 | 29.8] 79.2
06 |EBA = |desh 42| 42| 84| 11.9] 72.1 9 | mE = dteh| 49 49| 98] 22.6] 75.4| 1294 | &K ® jteb| 54| 48| 102 | 22.6] 79.4
304 | hA REST mat| 42| 48] 90| 17.9] 72.1 801k &M BF dteh| 52| 52| 104 | 28.6] 75.4| 1302 AME ¥F Jteh| 60| 54| 114 | 34.6| 79.4
S |HIE #8147 #dt| 46| 50 96| 23.8] 72.2| 81k |iIm = Jteh| 41] 44| 85| 9.5 75.5| 1314 | kA =4 mgde| 55| 57| 112]32.2] 79.8
324 | K EFH dteh| 49 40| 89| 16.7| 72.3| 82 |#8A =% @it 47] 50| 97| 21.4] 75.6| 132 |Ew MEF mde| 51| 54| 105 | 25.0/ 80.0
33 |EK HEE dteh| 47] 42| 89| 16.7] 72.3|| 834 @A 14 mdtl 42] 55| 97| 21.4| 75.6| 133 | =N = mde| 53| 64| 117 ] 36.9| 80.1
34 | L BB mdt| 47] 48] 95[22.6] 72.4| 84 A EZ dteh| 52 45| 97 | 21.4] 75.6| 13442 M EFE mdt 49| 60| 109 | 28.6| 80.4
3B | HhE & mgdt| 39| 43| 82| 9.5/ 72.5| 85y | KM #2Em Jedh| 55| 48| 103 | 27.4) 75.6|| 1354 |hnEE M qteb| 51 51| 102 | 21.4] 80.6
364 | AR B dteh| 45) 49| 94 | 21.4) 72.6| 864 | &HE A{ZE dedh| 47 49 96 20.3) 75.7| 1366 Ek MBE m7dc| 48] 53| 101 ] 20.3| 80.7
3L | MA ZHEF  |dkch| 45| 42| 87| 14.3| T72.7|  874% | ARiE dteh| 47] 49| 96 | 20.3| 75.7| 1374% |hie & jteh| 53| 51| 104 | 22.6] 81.4
38fL |FIEH ‘h— | 43| 44| 87 | 14.3] 72.7 884 | HhAt BUA fde| 47| 55| 102 | 26.2| 75.8| 138GL | /EE —HRR mdt| 58] 52| 110 | 28.6| 81.4
96 | EBiE MR mde 41| 46| 87 | 14.3] 72.7 896 | =R B deen| 57| 45| 102 | 26.2| 75.8| 1394 | #EiE RIF jbeh| 52| 54| 106 | 22.6) 83.4
4015 | iR Bz Bh REde| 45) 47 92 [ 19.1) 72.9|  90fk |hAt R dteh| 47] 42| 89 | 13.1] 75.9| 14012 |/ EBF #5dt| 54| 58| 112 | 28.6| 83.4
ML (R 5 dteh| 48] 44| 92 [19.1] 72.9| o1 |/ ERE dteh| 49] 40| 89 [ 13.1] 75.9| 1414 HE+H BF jteb| 59| 54| 113 | 27.4] 85.6
4200 | R =R mdt| 36| 43] 79| 6.0/ 73.0| o2 1@ IELE dteb| 48] 47| 95 19.1] 75.9| 1421% | &ZET E— mde| 59| 60| 119 | 33.4| 85.6
4361 |EK EF Jteh| 50| 48| 98| 25.0/ 73.0 934 |LUA HEF |fgde| 48| 47| 95 | 19.1] 75.9| 14341 | &H FHif Jte| 61 59| 120 | 31.0) 89.0
40T | NIIEE 24T Jteh| 45] 40| 85| 11.9] 73.1 U | KB AT @it 45] 50 95 19.1] 75.9| 144 & H“F &gk 72| 69| 141 ] 40.0/ 101.0
4501 |TRE HR# Jteh| 44 40| 84110.7] 73.3| o5y | = H— #dt| 43| 52| 95 19.1] 75.9
464 | HA #EmER  dteh| 43 41 84[10.7) 73.3| 96f |thE HF jteh| 46| 42| 88 11.9] 76.1
47461 | hIE = dteh| 45] 45| 90| 16.7 73.3| o7% @ E= mdt 44| 50| 94| 17.9| 76.1
484 |EH B #dt| 52| 50| 102 ] 28.6] 73.4| o8fr |ikRE ={- Ak 38| 43| 81| 4.8 76.2
4941 | Ba EME dteh| 41] 42| 83| 9.5 73.5| 004 |iBEA i& mde| 51| 49| 100 | 23.8| 76.2
504 |UBE 1EE dteh| 49 46| 95| 21.4] 73.6| 1004% |=ZME B @it 45| 55| 100 | 23.8| 76.2




